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LT = 1 3,372,672
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/Y A7 iy PR PEEME 5, 000m3ATH ;
Rkt A = 1 458,532 | IEMEFETE (8] 1-56) 520 m2
BGHROE VP R OWE + e+
LRI (B 1350) 50 m2
T i S O I BRI
P v T = 1 2,422,590 |Eki 1, 500 m3
B2 A couE
b E 1, 460 m3
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B TR (FRRE) 207 -b 1 (£
(12)
18-8-40 (B ) ;
&7 ny 5k 569 m2
150kg/{EAT 122 350mm VEHEH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;
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H#RT R L 2 1 3,564, 577 | AV -} 477 m2
FRs A E20em 207 -2 15cem ;
JE ka3 -} 71 m
(D)
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H Hi 8 m2
JERE A #ibk t =10 ;
LA 2 1 18, 842, 070
EELT = 1 1,372,070 |FR#EY 1 X
+4)
HEL 1 2V
HmEEE 1 =X
T wb AT 1 2V
+w (v72)
e 1 =
B2 A couE
7 VR AN = T = 1 17, 470, 000 | 7" VFYAME vJA 50 m
IR 2.4m PN 1 2m ;
k-7 VELAE T 2 1 93, 870
Bl T = 1 93,870 |HBlEFE (HERRER) 70 m
FEPE PeAHEEER Vf v B 50mmX 25% ;
PR RS AT ey — MG 70 m
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HAEEY Bl T
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/)Y - hik (AT
By 179 m3
/) - bk BEA%)
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THEHER T = 1 1,631,353 | L2 ARt 170 m3
THEHERE L 1 =X
T HE RS 1 X
ezl 80 m2
RC-40 ¥J& 100mm ;
T8 - s B L 2 1 7,891,632 | tdH 1 =
(RAEt+m )
MHEPE R 00 9 BHIRER (342) 1Y ;
KA+ 5 ik 1 X
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Al 1 X
il i EN 1 X
KET. = 1 443,530 | & V7" HEK 1 =
0LA 1240 (m3/h) A 1EZERFHEAK
[ BBt 3R T 2 1 324, 103 | p¥ ¥t 1 X
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RRIE -
AR IEE BT 2 1 1,677,000 |73k 1 =
RN X =X 1 59, 482, 205
HiE X 1 6, 328, 950
B =X 1 1, 324, 950
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